APEEJAY COMMON PRE-BOARD EAXAMINATION
INGLISH LANGUAGE AND LITERATURE, - 1584
CLASS X (2023-2024)

Time Allowed: 3 Hrs. Mazirnutn Marks: 29

General Instructions
I. The Question Paper contains THREE sections- Rrﬂ.mwr.. GRAMMAW & WRITING and

LITERATURE.
2. Attempt questions based on specific instructions for each part.
3. 15-minute prior reading time has been allotted for Q-paper reading.

SECTION A: READING 5KIILS (20 marks)
1. Read the passage given below. 10

I. Sir Tim Berners-Lee, a physicist working in Switzerland, transformed the Inteenet fror an

isolated collection of academic and military computer systemns to an international networe - 1
Web. A ground-breaking innovation, it changed the world forever, More than 30 years later,
Bemers-Lee is unhappy with how his creation is being used by tech giants, and he plans 16 maxs 7
comeback by rebuilding the Internet and making it more secure.

2. His parents worked on the world's first commercially built computer, Ferranti Mark-1, Afier
graduating from school, Berners-Lee opted to study Science at Oxford University. He thougin it
might be more practical to study Scicnce as it combined his interests in Electronics and Maths,

In fact, it tumed out to be more than just a pragmatic choice as it opened up a world of knowuledys
for him.

3.When he was 11, Berners-Lee went to a school located between two railway tracks. He used 14
encounter a lot of trains on his way, and he started trainspotting, an activity of watching trains znd
writing down the numbers cach engine has. When he was in college, he even made a computer out
of an old television sct. He bought the set from a repair shop. And assembling the computer cost
him only five pounds (approximately Rs 500.)

4.While working al the European Laboratory for Particle-Physics (CERN) in Geneva, Switzerland,
a 25-year-old Berners-Lee began tinkering with a software programme to connect the world, He
worked with Belgian systems engineer Robert Caillian to refine the proposal for a hypentext wystem,
which eventually led to the creation of the World Wide Web. He also created the first web broweer
and editor. The world's first website, http://info.cern.ch, was launched on August 6, 1991. It
explained the World Wide Web concept and gave users an introduction to getting started with their
own websites. Right from the start, Berners-Lee recognized that the Web could cither be a boon or

bane. According to his website, Berners-Lee hopes that the web can be used as a communication

tool and can help people understand cach other.

1.
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On the basis of your understanding of the passage, answer the following questions by choosing the

corrcel option

I The initial use of computers was made in which of the following ficlds?
. Business aclivities

2. Defence forces

3. lrducation and research

4. International networking

(1) Options | and 2

(b) Options 2 and 3

(¢) Options 3 and 4

(d) Options 1 and 4

2. On the basis of paragraph 2, which of the following can be considered to be most probably true?

(a) Berners-Lee was not initially interested in studying science.
(b) Berners-Lece had little interest in Electronics and Maths.

(¢)Berners-Lee's decision to study Science proved to be a disaster for him.

(d)Berners-Lee inherited his interest in computers from his parents.

Vhich of the following statements do you think Berners-Lee in all likelihood could have made as

a school boy?

(a) "When will [ ever get Lo sec a train?"

(b) "Watching trains is such a boring activity!"

(¢)"There goes my favourite engine!”
(d)"'One day I will make a computer that will run trains!"

4. Which qualities of Berners-Lee's personality does paragraph 3 reveal?

& .
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4.

A tendency (g destroy things
(a) 1 and 3

(b) 2 and 3
(¢) ] and 4
(d)3 and 4

S. ' ' '
Accnrdmg 1o Bemers-Lee's website, the Web was intended to

(a) tinker with software programmes of those days

(b)test a hypertext system
(C)launch the world's first web browsecr and editor

(d)miprove communication and greater understanding among pcople

0. Which of the following statements is NOT TRUE in the context ol paragraph 47
(a) Bemers-Lee worked at the CERN in Geneva, Switzerland.

(b) Bermers-Lee single-handedly improved the proposal for a hypertext system.
(¢) Berners-Lee created the world's first web browser and editor.

(d) Bemers-Lee believed that the Web could be both a boon and a bane.

7. Choose the option that correctly identifies the following statements as TRUE and FALSE.

l.Before Berners-Lee the internet used to be just a collection of academic and military computer

system.

- The internet came into being 30 years after Berners-Lee had first thought of it.
.Berners-Lee's decision to study Science opened up a world of knowledge for him.
4. Berners-Lee was already a teenager when he took to lrainspoltting.
>.Berners-Lee transformed an old computer into a television set.

6.The world's first website was launched on 6th August 1991,

-Bemers-Lee completed his project to decentralise the Internet in 2020.

(a) True: |, 2 and 6; False: 3,4, S and 7

(b) True: 1, 5 and 6; False: 2,3, 4, and 7

(¢) True: 1, 3 and 6; False: 2,4, 5 and 7

(d) True: I, 3 and 7; False: 2,4, 5 and 6
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9. "To infringe upon' (paragraph *)) means the same as W

(a) follow
(b) protect
(c) violate

(d) destroy

10. The objective of Berners-Lee's new project 'Solid' is to

(a) stage a comeback in his career

(b) make internet uscrs its rcal controllers

(c) introduce and popularise his invention

(d) sell internet user's personal information for money

Q2. Read the passage given below: 10

1. That there's a gendered division of labour in India is somnething well known — and evident from
looking around virtually every household, and to some extent, workplaces. But just how unequal it
is was hard 1o quantify, until now,

2. Data shows women are overwhelmingly involved in work they do not get paid for. Some 84 per
cent of women's working hours are spent on activities they do not get paid for, while for men, the
reverse is true—=_80 per cent of their work time is spent on activities they get paid for. Spending the
majority of their time in employment does reduce the hours available for men to spend on unpaid

domestic chores, but the problem goes beyond mere time availability.,
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3. Just 6.1 per cent men participate in cooking, cven if only for a few minutes in a day, but 87 per
cenl men participate in leisure activities. In places where patriarchal norms around division of
labour are ri gid. they create gendered spaces within the housshold. In many such houscholds, if a
man walks into the kitchen. it is considered odd or wrong. It isn’t paid work that is preventing them
from sharing household work.

4. Women. aged 15-39. however, the vast majority participate in some cooking every day. Just 8§ per
cent men participate in house cleaning and just 3 per cent in washing clothes. This leaves women
with hittle time to socialise — or even sleep. The average woman, aged 15-59, gets 13 minutes fewer

sleep at night each day, but catches up by grabbing a nap at odd hours. Women in their working
ages also get less time to socialise, eat and drink, and even bathe and get dressed.

On the basis of your understanding of the passage, answer the fcllowing questions. 1*10=10
(a) Which of these statements can you not infer from the extract?

(1) Men show an inclination for unpaid work.
(11) A large number of men are involved in their children’s upbrinzing.
(111) Men like to be least involved in cleaning and maintenance work around the house.

(1v) In urban households, the work women do is in addition to the equal time they give to paid work
as men.

(b) Men’s notion of household work as child’s play is ................... csane o
(1) reinforced by observing their mothers working without complaining all their lives
(11) influenced by the image of housewives on daily soaps

(111) because women can multitask so easily

(1v) something man would like to sustain to ward off guilt

(¢) Fill in the blank in the following sentence.

.................................. means the same as ‘child’s play’.

(d) Which of these is not a reason for men’s reluctance to share household work?
(1) They find it difficult.

(11) They are groomed to think it as odd.

(111) They would rather not do something that is unpaid.
(1v) They spend more hours at their jobs than women.
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(&) Choose the correcet option for the iollowing statement.

Starement: Genderad spaces exist everywhere in India, across rural and urban areas, class, and
socal groups.

(O Detimitely e
() Most Tikely false
() Probably true
VY Cantt say

WWhich of these would not be considered a patriarchal normv/behaviour?
() Gendered language

() Complete control over women's actions

(") Reservation for women in Parliament

(VY Female foencide

(1) Which of the following words is similar in meaning to ‘stiff” in para 3?
(1) leisure

(11) naid

(11) preventing

(V) socialise

) Which of the following words is OPPOSITE in meaning to ‘absence’ in para 27
(1) over whelming

(11) reverse

(1) majority

(1) availability

SECTION B: GRAMMAR AND CREATIVE WRITING SKILLS (20 marks)
3. Attempt ANY TEN of the following questions: 10

1. Find the error in the following statement and use the following format to supply the

correclion.

6.
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The soccer team felt ‘
exhi - '
larated. The warm welcome it receive made the team members emotional.

Error

Correction

1l. Read the conversation between a customer a

follows y’;

An angry customer: "] pay good money for premium channels so, is it too much to ask for
uninterrupted service."

nd a shopkeeper and complete the passage that

Customer Care Officer: "Sir, I can understand how frustrating such a situation can be.
Let me see what I can do about it."

An angry customer called up a call center and asked if it was too much to get

uninterrupted service in spite of paying good money for premium channels. The Customer Care

Officer answered politely .......cooiiviiiiiinnnnn... his frustration and assured him to look into it.

11i. My father always keeps handy money with him for emergencies.
(a) any
(b) every
(c) some

(d) all

—_—

iv. Roshni a chocolate cake when someone knocked at the door.
(a) baked

(b) had been baking
(¢) had baked
(d) was baking

v. The teacher told the students that they do the assignment as the topic is not
included in the term.

(a) must not

(b) need not
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(¢) ought not
(d) dare not

i @ i
ammunition.

d, " tter
vi  The commander said, "Alas! Our focs have bell g
hetter ammunition.

better ammunition.
ad better ammuniton.
ammunition. (

(a) The commander told him that our foes are
(b) The commander told that Alas! our foes do have
(¢) The commander ecxclaimed with sorrow that their foes b

. - - ne better
(d) The commander said sorrowfully that their foes were having

call them at least oncc a week.

vii.  Timna's grandparents expcect that she

(a) shall
() should
(c) would

(d) might
viii. Replace the underlined word with the correct option given below :

The performance was so flawless that the hall echoes with loud applausc.

(a) echoed
(b) was echoing
(¢) had echoed

(d) 1s echoing

time to read now.

ix. Although I am an avid reader since childhood yet I get

(a) much
(bh) lew
(c) httle

(d) enough

x. This is value for money. | buy it.

(1) wall
(b) can
(c) may

(d) mmight

x1. Read the conversation between two [riends. Complete the sentence by reporting the reply

correctly.
Nasrin: [ want to improve my command over the English language.
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a. Few
b.l ttle
Cc. The
d. Any

4..—\IIumpl ANY ONE from A and B given below: 5

A. The Sports Day of ABC Public School is round the comer. Preparations are going on well!

As the Sports Secretary of the school, you had a conversation with the Principal regarding the
requirements for sports equipment.

Read the conversation and write a letter to place an order for the sports equipment as needed by the
school.

Principal
Mr Sahni (Sports Secretary) : Sir. we need to place an order for sports equipment.

=) : Please place the order with Fitness Zone as they are the suppliers for sports equipment as soon as
possible.

Mr Sahni (Sports Secretary) @ Yes sir, | will contact them today itself.

Principal

: I want the equipment to be delivered soon so that students can have a couple of practice sessions

with the new equipment.

Mr Sahni (Sports Secretary) : Thank you sir!

OR
B. You are Aditya/Milli, a resident of Behala, Kolkata You are very much inspired to waltch reality
shows on ‘dance’. at various channels on T.V and wish to join dance classes leamn classical dance.
\Write a letter to Pt. Lokenath Maharaj, Director, Nritya kala Academy Group, Behala, Kolkata,
enquiring about the dance classes, timings, fees, duration, condition for admission citc.

5. Attempt ANY ONE from A and B given below.

A. The visual representation below offers a comparative analysis, shedding light on the
factors facilitating and acting as barriers to healthy eating across different occasions
affected by personal, familial, community and societal factors. Write an analytical

paragraph based onthe given information in about 120 words. Make comparisons wherever
appropriate and drawconclusions.
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Barrier

e courses have gaincd immense popularity, resulting a

surge in sales. However, many students are enrolling in these coOurses without a clear
understanding of the important factors. The visual representation highlights the essential
factors to be considered before joining such online courses. Examine the visual
representation closely and write an analytical paragraph based upon the information

provided in about 120 words.

5 B. Over the last 2-3 ycars, Onlin
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SECTION C- LITERATURE (40 marks)
c. Reference to the Content

10
CoATempr ANY ONE of two extmets given: 5
AUNCUTom weeping nor from grieving will anyone obtain peace ol mind: on the contrary,
s pam will be the

b

¢ greater and his body will sufter. He will make himself sick and pale, vet
not saved by his lamentation. He who seeks peace should draw out the arrow of
n.oand complamt. and griefl He who has drawn out the arrow and has become

obLn peac

! ¢ ot mind: he who has overcome all sorrow will become free from
somow, and be blessed.™ (The Sermon at Benares)

() What does Buddha emphasize in the following words?
CNOUom weeping nor from grieving will anvone obtain pcace of
mundl s pam will be the greater and his body will sufTer.™

(2) Weeping wall cause pain.

(o Cneving will Keep away one's sercenity.

' e Dady will sufler.

=
L =

l - W ‘I.
(d) Al ¢ arove

(1) Accerding to Buddha, what should a person do to obtain peace?

(21) Fill in the blank with ONE WORD only.
- ==——— 111 the

ExITact means “express sadness over something?

(V) Select the option which displays an ex

: ample of “physical weakness'.
(2) Ram had dengue and w

as looking sick and pale.
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SANINTIN

A The youmge wenpalb was Lallinge for the tempting foaod.

EThe youny seapulls thouphits were nlling under the control ol Tear,
C The young seapoll waes altaid of folling hom the ledype,

D The seapuolla tnther was Lalling: ot of Jove for the young scapull,

U Why did the neapall teel dizzy?

A e B eaten o tat ol of o sacdden.

IV e had not caten anything since the previows nightlall,

C e How tor the Giest time and it wis o new experience for hirn.

1Y, e was unwaell,

Wi Aceonding (o the extract, how did his parents appreciate his venture?
AL Scolded him

I Welcomed it with serenming sounds

C S with him

D). Giave him more [ish 1o eal

v, How was the youny, seapull fecling at this point?

v. Complete the analogy by sclecting the suitable word from the text.
notse: stlonce:. whisper: -

7. Attempt ANY ONE of iwo extracts given.
A, Al migihies the raots waork
ter disengegee themselves frem the eracls
i the vereanee floor.
The leaves strain toward the srlass
semall twises stiff with exertion
long-cramped boustis shuffling: undey the roof
like newly discharsed peationts |
hallf dazed, moving:
fer the elinie doors,
. Accordimg to the extract, the tree is located in a:
A bunpalow
[3. Torest

(The Trees)

a.
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C. veranda
D. nursery

1. The word -_____
1. The stiffy :

: CSS of the twioe
AL lack of water 1 wigs is ~aused by:
B. hard Strugple
C.empty Space
D the Ereenhouse effac

v. T .

mn}_?ipuu has used 4 poctic device
MRS nt.'-\‘u"ly di‘i[‘,l aroe .

A. Repetition Hrged patients,

B+ Si]ﬂih;

C. Mewaphor

D. Alliteration

in the line: “lon

" E-cramped boughs shuffli
State the Poctic device used. - MiEing tmder tap

———

) . OR

li. lI n.i-: inickled r_’nuvfn to the bottom of the houschold,
n( lllT_lE 'mouse Blink strategically mousc holed

But up jumped Cu |

. ! ustaid, snorting iike an engine,
fl:-.h'::d his tail like irons in a dungeon,
With a clatter and a clank and a jangling squirm,

He went at the pirate like a robin at a worm (THE TALE OF CUSTARD THE DRAGON)

(1) Pick the option that does not display a simile from the extract.
(A) Clashed his tail like irons...

(B) ...at the pirate like a robin at a worn.
(C) ...Cnstard. snorting like an engine...
(D) ...trickled down to the bottom...

(i1) *Hc went at the pirate hike a robin at a worm® Why has this comparison been used here?
Just like the robin catches the WO, =-m - o s e

(A) Custard artacked the pirate after careful observation,
(B) Custard attacked the pirate without delay.

(C) Custard artacked the pirate carelessly.

(D) Custard attacked the pirate stealthily.

(1ii) State whether the following statement 1s TRUE or FALSE

The poet’s purpose of using the onomatopoeic words given in the extract is to emphasize on
the might and boldness of Custard.

(iv)Select the option that fits with the reaction of the characters in the context of the extract.
Pirate: Shocked:: Custard: --====-=m=mcw=-m-

(A) undaunted

(B) petrified | | )
(C) dazed :

(D) thrilled ' |
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(v) Which option lists the quotes that support the ideas in the extract?

1. Fear makes strangers of people who would be friends.

2. If you're brave enough to start, you're strong enough to finish.
3. Courage doesn’t mean you don’t get afraid. Courage means you
4. You get in life what you have the courage to ask for.

5. Fear has a large shadow, but he himself is strong.

(A)land 5(B)2,3and 4
(C)2and 3 (D) 1,3 and 5

don’t let fear stop you.

4%3=12

in about 40-50 words each.
e to the poem

8. Answer ANY FOUR of the following |
fly describe the statement with referenc

i. *Nothing lasts forever in this world'. Brie

‘Fire and Ice’.

ii. How has the poet used metaphor in his poem ‘Fog’.

iii. "Mijbil was an intelligent, friendly and fun-loving animal who necded love"-Elaborate

iv. *What careful, painstaking, claborate plans Vvalli had to make for the bus journcy’. Why were
(Madam rides the bus)

these plans required and what did she do? _
v. The story ‘A Letter to God’ highlights the conflict between humans themselves. Explain.

9. Answer ANY TWO of the following in about 40-50 words each. _ 2*3-‘—'_5.
i. *“Don 't judge the book by its cover’. How did this come true for Ausablc? (The Midnight Visitor)
? (The Necklace)

ii Matilda suffered incessantly. Why did she suffer”
iii. What guesses were made by Think-Tank about the books found on Earth? (The Book that Saved

the Earth)

10. Answer ANY ONE of the following in 100-120 words: 1*6=6
i.You recently read an article on ‘Freedom -My perception’ and shared 1t with your best friend. You

feel that your perception of freedom has seen a transformation after having rcad Nelson Mandela-

Long Walk to Freedom
Complete the dialogue i
freedom. You may begin like this:

Friend: [ think the freedom to watch TV for exten

like to view 1s nmportant.

n 120 words, with your friend, explaining your new understanding of

ded hours or choose the kind of programmes I'd

OR
ii. The tiger in the poem ‘A Tiger in the Zoo’ presents a contrasting image with the tiger in the
poem ‘How to Tell Wild Animals’. Compare and contrast the two tigers with reference to

the manner in which they have been presented in both poems.

11. Answer ANY ONE of the following in 100-120 words: 1*6=6
i “Love. kindness and compassion can transform a person and bring about positivity in one’s life.”

Elucidate the statement by comparing the change brought out in Har1’s life from the prose ‘The

Thief's Story’ and in Bholi’s life from the prose ‘Bhol1’.
OR

ii. “Mother is the first teacher of a child.”
Justify the quote given above in the light of contribution of Richard Ebright’s mother in ‘making’

him ‘a scientist’.

W
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